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Q.No: 1 Who among the following is not integral to the trinity of Carnatic Music?
2427045
Frafif & § 3w Wi o Bl wr ol o e 82
Tyagaraja
A
AR
Muthuswami Dikshitar
B
Ty SRR
Syama Sastri
Cc
T AR
Venkatamakhi
D
Jependt

Correct Ans : D

Subject : General Knowledge

Q.No: 2
2427966

Consider the following statements about 'Congress' and choose the false one-

BN & IR F FoRfEd 3 R R w3 ok sRiw &) 94-

The Congress got split into Moderates and Extremists in 1907.

1907 & FiFg RATwR IR Rufyl # v & i

The Congress reunited in 1915,

1915 ¥ ST &1 gAftfer go

The Indian National Congress was established in Bombay in December 1886.

el T BT 9 W REeR 1886 F & H g€ o

Bal Ganga Dhar Tilak was an Extremist.

A T R fode e R 1

Correct Ans : C

Subject : General Knowledge

Q.No: 3
2428001

Which of the following is not a feature of the Cabinet Mission Plan.

Frofifaa & 9 S Sise e gom @t [ 7 31

India would be a federation of British provinces and the Indian States.

YR fafewr vt SR YR et &1 U w9 g

The Federal Government would deal with defence, foreign affairs, and communication.

el TRER ¢, TR It ofR TR ¥ fush

Princely states would be under the direct control of the Union.

fared w9 & Y freao § g
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The Muslim League passed a resolution on July 29th, 1946 withdrawing its acceptance of the Cabinet Mission Plan.

R W Y 29 A, 1946 F Hiac AR dorn 3 Wiphk P a0 9 5T TP TR Ika

Correct Ans : C

Subject : General Knowledge

Q.No: 4 which Port is located on the Hugli River, 128 km inland from the Bay of Bengal?

2430701
PH Tl 4ETME T 1 W F 128 et siad=ii get 7t W Rya g2
Tuticorin Port
A
TP o
Haldia Port
B
e e
Kolkata Port
[
EAREIGIR I
Kochchi Port
D

Fifey Ui
Correct Ans : C

Subject : General Knowledge

Q.No: 5 In which of the following languages did Gautam Buddha give his sermons?

2435875
Frafafed ¥ § e § fag g5 3 siar Iuaw far ur
Sanskrit
A
e
Prakrit
B
wepd
Pali
Cc
areft
Hindi
D
f&d

Correct Ans : C

Subject : General Knowledge

Q.No: 6 According to the Indian Council of Agricultural Research, how many types of soils are found in India?
2440710

URETE B M uikug & AR YR & fFan vor @) gl o ol 82

4
A

a4

5
B

5

6
C

6

8
D

8

Correct Ans : D
Subject : General Knowledge



Q.No: 7 Who among the following has won Australian Open 2021 men’s single title?
2440847

Frafafea & 9 fFem sifer ofivd 2021 7¥W tea faare s §?

Novak Djokovic

A
s S
Rafael Nadal
B
e TSI
Roger Federer
c
IR FeR
Stan Wawrinka
D

W it
Correct Ans : A

Subject : General Knowledge

Q.No: 8  When was Madhya Pradesh Badminton Association founded?
2440919

T Rl Sefiie WY Bl RNUAT Fd g5 A2

10th December 1943
A

10 R 1943

5th August 1945
B

5 3d 1945

17th September 1950
Cc

17 RydsR 1950

19th October 1946
D

19 3dgsR 1946
Correct Ans : D

Subject : General Knowledge

Q.No: 9  Where was Chandu Sarwate born?

2440927
g WA BT 5T TEI gl UT?
Bhopal
A
aiaret
Vidisha
B
fafa=m
Sagar
C
R
Narmadapuram
D
THGH

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Dr Ramkumar Verma was NOT a -
2441109

T IR It T -



Playwright

A
ACTFHIR
Poet
B
Eact
Hindi literary history writer
c
Tt Wi sfoera dae
Singer
D
TS

Correct Ans : D

Subject : General Knowledge

Q.No: 11 In which year Shajapur was declared as a district?

2441145
RISTYR &1 g af Ry @i fomar war ar?
1901
A
1901
1902
B
1902
1903
c
1903
1904
D
1904

Correct Ans : D

Subject : General Knowledge

Q.No: 12 The Sitamarhi Group of Temples, Hanuman Marhi Group of Temples, Kuti Group of Temples & Andhakuan Group of Temples is found at
2441188

Hamet #feR THg, TG iR THE, et HieR Wig SR iy iR wE W grgT ST §1

Baihar

i

Garhi

Lanji

i

Thoban

UL

Correct Ans : D

Subject : General Knowledge

Q.No: 13 How many small chambers are located inside the Chausath Jogini Temple in Mitaoli village?

2441236
fhraracht ifa & dre D AfeR & iR o o1 oy R 32
62

A
62



64

66
C

66

68
D

68

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Chhatarpur district is bounded by the state of to the north.
2441415

TRRPELSWA__ T=mIRNE

Rajasthan
A

TSR

Uttar Pradesh

B
FWR U
Maharashtra
C
HERTE
Jharkhand
D
IRGS

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following districts does not fall under Bundelkhand Plateau?

2441446
Frofaiea & § $F W R §3ois UoR & i Tt o 22
Sajapur
A
W
Datia
B
<fear
Chhatarpur
C
TRR
Panna
D
AT

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which of the following is one of the Particularly Vulnerable Tribal Groups (PVTGs) of Madhya Pradesh (including Chhattisgarh)?
2441618

Frefafed § 9 39 79 1w (S0eTe 9fa) & IR 9§ FHER SHed SHg (PVTGs) § @ T 82

Padhar
A

YR

Koraga
B

HROT

Cc Birhor



foeR

Sauria Paharia

v ggifgar
Correct Ans : C

Subject : General Knowledge

Q.No: 17 During whose tenure as Chief Justice of Indore High Court, the Indore Bench was declared a Bench by the President of India?
2441700

T Uem I I & g A & w0 # f6ud s & IRM 38R Uis ®1 HRd & APl §R1 I ARy S e wifta far mr ar?

Justice Ganesh Prakash Bhutt

A
TR TOIT UBTRT ST
Justice Bishamber Dayal
B
wfew R g
Justice P.K. Tare
c
wifew dt. &, ®
Justice P.K. Dixit
D

S . ¥. dt@

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Who is the current secretary of the Madhya Pradesh State Election Commission?

2441760
T YT 59 A SMTENT & adAH Ifg B 87
Mrs. Sunita Tripathi
A
Sl e Froat
Mr. Durg Vijay Singh
B
ot g7 o Rie
B.S. Jamod
c
EA A
Mr. Basant Pratap Singh
D

ot s wam Rig
Correct Ans : D

Subject : General Knowledge

Q.No: 19 Mohiniyattam dance is performed in which of the following states?

2442345
Aifgeren e Fufiled & ¥ fra wsa & R s 82
Kerala
A
Eac
Tamilnadu
B
g
Manipur
C
gz
Uttar Pradesh
D

IR W

Correct Ans : A



Subject : General Knowledge

Q-No: 20  In which of the following year was the World Bank formed?
2442422

Frafarea & 4 g o fay S &1 767 gorr ur?
1940

1940
1942

1942
1943

1943
1944

1944
Correct Ans : D

Subject : General Knowledge

Q.No: 21 Drinking water is considered to be for our body.
2423060

U &1 9 3R TRR & fog T S B

Ignoreable
A
& 7 3 aRg
Non-essential
B
g
Optional
C
L2y
Essential
D
STARIR

Correct Ans : D

Subject : General Science

Q.No: 22 What is an example of a closed system?

2425905
s Rien 1 e &1 32
Oven
A
3T
Refrigerator
B
frst
Steam turbine
C
Y P T
Metallurgy
D
Uinez:d

Correct Ans : B

Subject : General Science

Q.No: 23 Which one of the following is the method to make water safe for drinking?
2428996



T B 4 & f7g JRE@ o 1 Al Fafiied 7 & sH-d g2

By freezing
A
SHA
Boiling water to kill germs in the water.
B
Tt # Fiemel B A & e See ar
By adding salt
C
EECALEICR
By adding chlorine
D

FARA e @

Correct Ans : B

Subject : General Science

Q.No: 24 Learning places for sustainable development , describes the basic design of a
2429152

Tifed R, % T {33 &1 a0 HT B

National park

T IEE

Biosphere reserve

TERER fed

Wildlife sanctuary

TSN PR

Zoo

fafarR

Correct Ans : B

Subject : General Science

Q.No: 25 Which type of crop is grown during the winter season?

2429196
fia g & v woR B wHa Is W 32
Kharif crops
A
T wHd
Rabi crops
B
&t et
Seasonal crops
Cc
At wadt
Commercial crops
D

AT Had

Correct Ans : B

Subject : General Science

Q.No: 26 The bird's flight adaptation is because of -
2429880

el BT IS SFHT (s HRT BIaT § -

feathery covering

TEER SR



wings

erc)
Insulation
Cc
hollow bones
D

e syt
Correct Ans : D

Subject : General Science

Q.No: 27 Name the group of organisms in which the hind-limbs bear clawed digits that are adapted for walking, perching and swimming whereas the forelimbs are adapted for flight?
2429944

il & I Tg T A1H Sarsy R Rg-oii 3 U ardl sfe B o we, Y67 IR A ¥ R sl 9 € Sl o ¥ 3i I ¥ R sl € 82

birds
A
aaft
reptiles
B
gy
mammals
C
TR
amphibians
D
SHAR

Correct Ans : A

Subject : General Science

Q.No: 28 Name the long chain made of small repeating monomers.

2430134
B IERIT W A A § o deft g &1 A el
Polythene
A
i
Polymer
B
P
Silk
C
M
Terycot
D
e

Correct Ans : B

Subject : General Science

Q.No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430375
Assertion(A): Nocturnal birds like owls have large pupils.

Reason(R): It can provide a larger pathway for light to travel to the retina.

e Fofafld uy & < o= § B A o B ity SR R B SR & T N A9 591 797 31 S19d) 37 < Sl 1 WiayrHiyde Sig e § 9k R{u e e 8 9 vy o1 wdt 3w
i (A) : FRTER Teht 99 Segall 3 yakmt 3t Ext 81
PHRUT (R) : TG YBT BT e b S & oY T F31 ANf UM B THal §

Both A and R are true

A IR R Qe §

Dotk A meed N mmn Smlan



B DULIL A dllu N aIT 1aIRT

A 3R R 3T s §

A is true but R is false.
Cc

A T ¢ AfF R 3 B

A is false but R is true.
D

A 39T R ARFTR TG R
Correct Ans : A

Subject : General Science

Q.No: 30 is produced by involving lactic acid fermentation.
2430967

it oRys v @) wnfia sve AR R s g

Curd
A

Eil

Milk
B

Al

Beer
C

R

Vinegar
D

Rer

Correct Ans : A

Subject : General Science

Q.No: 31 Largest cells are

2432487
SESESEIREIY &l €1
Egg cell of ostrich
A
R B SfeT BT
Human Fetus
B
RER
Umbirical cord
C
TR
White blood cells
D

g TG PIRIDGT
Correct Ans : A

Subject : General Science

Q.No: 32 Black lung disease is common amongst people working in -
2434315

W B AT AN A BT PHSTIT M E -
IT industries
A
e S
Fisheries
B
T e

(o} Coal mines



B gF

Agriculture

P

Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following has a higher coefficient of linear expansion?

2434573
il & 9 fras Re fwR &1 e afies 32
Quartz
A
Laeed
Steel
B
T
Iron
C
el
Aluminium
D

SegtiTH

Correct Ans : D

Subject : General Science

Q.No: 34  Who out of the following discovered that when closely related elements are grouped in a set of three, the atomic weight of the middle element was almost the arithmetical mez
2437156

Fofifaa & 9 fre umn 5 o9 e § Jefia dal &) 39 & Tgg § a7 o1 2, o JE dd 1 IR HR SN THE & 3 &) ddl Bl TTHT SRt Hien €T 87

J W Dobereiner

A
& I SRR
Antoine Lavoisier
B
wrht ardEReR
John Dalton
C
i sTeed
William Odling
D

fafrer hrsfeT
Correct Ans : A

Subject : General Science

Q.No: 35 The Group 16 elements of the long form of Periodic Table are also known as -
2437164

e TRt F < w0 & g 16 F I B 39 T H 2t S S | -
Alkali Earth Metals

A
&R gt g
Transition Metals
B
REZERIGS
Chalcogens
C
B
Halogens
D
By

Correct Ans : C



Subject : General Science

Q.No: 36  What is my father’s wife’s father-in-law's only son to me?

2422479
R forg AR e 1 uelt & R BT 3 T F 3?2
Uncle
A
EIEl
Brother
B
o
Father
(o)
forar
Grand Father
D

G
Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the wrong term in the series?

2422613
34,18,10,6,4,8
§gal T e HH P Ul TL?
34,18,10,6,4, 8
8
A
4
B
4
6
C
6
34
D
34

Correct Ans : A

Subject : General Reasoning

Q.No: 38 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as |
2422648 pelow, and find the one that best fits in place of the missing letter of the series.

a__bbaa__baa__baab__aab

Frofefaa vy & Rl 71 ue yaa § T 1 3T saenshi § $w sHeR gel Ry MU €, iR 3 Juan F N Ry e fawed # 96t o1 § § 9N 9% 9 Trfewl AR fiu e AR fawedl § & f i @an &

a__bbaa__baa_ _baab__aab

abab
A

abab

baba
B

baba

C abbb



abbb
babb

babb
Correct Ans : C

Subject : General Reasoning

Q.No: 39 Choose the correct mirror image/jpg of this combination- QWEZP872HO.
2425706

39 I P g1 qUUT BfY gH- QWEZP872HO

OHCY29X3TVWO
A

OHCY29XIVO

OHCYeqsIow
B

OHELTeqsIow

OHCT2IsWi0
C

OHCTeISWiIO

OHETEIASVO
D

OHCT29ASV/O

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426311

AZBY : DWEV :: HSIR : ?

I SHER-TIE BT TG Y Sl R 3ER-THg A S TR FafT § SR G 31eR-THE, U S1eR-9ug F Weifdd g1

AZBY : DWEV :: HSIR : ?

1QKO
A

JQKO

KPOL
B

KPOL

KPLO
c

KPLO

KOLP
D

KOLP

Correct Ans : C

Subject : General Reasoning

24"12!244015 Select the option /number which is related to 3™ number in the same way as 22 number is related to a
1%t number?

54:20::67:7

30 e ffaweT & Tue #{ S Sl FEar ¥ 3 yeR §afid § S gl §Ear ggen

& ¥ wEea ¢ |
54:20::67:?
42
A
42



13

21
C

21

16
D

16

Correct Ans : A

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429558
PS:MV::G):?

39 fAeed B 997 X o) IR UE F Sl TR Hafa § S gui ug U ug 9 Hafva g

PS:MV::G):?

EM
A

EM

DN
B

DN

EN
C

EN

DM
D

DM

Correct Ans : D

Subject : General Reasoning

Q.No: 43 To reach his office daily, Rohit goes from his home he first travels 5 km to the east, then turning to his left to travel 12 km, then turning right to travel 5 km, then again turnin
2429680

AT 3 FrITTd T Tgad & fore, Afed ofue wR & I §, 98 Tgdl 5 bl 3t o o 3, R 12 et &) amn va & forg oroeft a1 ok 1ggsan €, O 5 fadt Yt o - & forg e gean 1, |

12 km
A

12 foit

10 km
B

10 &4

17 km
c

17 f.adt

13 km
D

13 f&.t

Correct Ans : B

Subject : General Reasoning

Q.No: 44  Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433465



Problem Figures

ot WvP| [FHE
pAW] D10 |cel|

Answer Figures

QX C| [@xC Q<3 C| |C0O

F&B| F9B| |[BRF| [BSF
(a) (b) (c) (d)

39 e 1 797 &Y S et el I S veR T & R TeR gt engfa, Tedh snefa § wefia 71

voa 3ngid :
ofT(Q| [WVvP| [F&B

PAW] D80 |cwel|
IR ;G :
25 C| [ooC| [0oC [co0

F&B| F<9B| [BRF| BSF

(a) (b) (c) (d)

(a)
A

(a)

(b)
B

(b)

(c)
c

(c)

(d)
D

(d)

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Identify the figure that completes the pattern.

2433502
gi% Eg;i
J PR & UG B ol e Y R B 8
A
B :;iE;:E;




& &K K%

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.
2435013

Fofifad IR ser el § ¥ & v P % 3 79F § ok U o 81 v g

ADB
A

ADB

CFD
B

CFD

uxv
C

uxv

QTS
D

QTS

Correct Ans : D

Subject : General Reasoning

Q.No: 47 Identify the class that best represents the Venn-diagram.

2435583
Ladies, pregnant Ladies, reporters.
A
wigenait, miah afgensll, wERl
Battery, Phone battery, Computer battery
B
¥4, B T, IR Tl
Season, autumn, winter
C

Hrem, Re By, wdif

D Car drivers, Human beings, women



Correct Ans : A

Subject : General Reasoning

Q.No: 48 Identify the diagram that best represents the relationship among the given classes.
2435706

Cotton, cotton bedsheet, cotton pillow cover

I G P g5 FHx ol faT e AR & i Hay BT vad et ufifRfia SR g1

i, Fied Jedie, Bie e v

OO

OO

~

@

oy

A
Correct Ans : B

Subject : General Reasoning

Q.No: 49 Three of the following four number-pairs ale alike in a certain way and one is different. Find the odd one out.
2438849

Frafifed TR g€ 7 A 7 1@ PFia % 3 9dfta ], e fim 8, fawm o1 7w w3

967:844
A

967:844

865 :722
B

865 :722

756 :633
C

756 :633

378 :255
D

378 :255



Correct Ans : B

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different. Identify the different one.

2438861
Frofafed ar Jen-g § 4 O g@ Rl 1@ e 99 § SR U SREH 81 39 SR SeT-gid &1 9u S|
23:29
A
23:29
3:5
B
3:5
17:21
c
17:21
11:13
D
11:13

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Vis the brother of K and K is sister of F. F is brother of G. How is G related to V?

2439312
V, K P14 8 SR K, F 3 967 81 F, G 3T WIS 81 G, V 4 59 v wafid 82
Brother
A
o
Sister
B
CREl
Brother or Sister
C
T o1 T8
Data inadequate
D

Efe o]

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440216 If police carry out the investigation, the culprit will be caught

A. police carried out the investigation

B. police did not carry out the investigation

C. the culprit was caught

D. the culprit was not caught

o T gy H 4@ HF SR IS 918 IR HUA §1 Y B BT GH A, ol Ugd HYT BT AR IR YA I 7, AR & FYF Aifdd FU Y T FUF Y W 3
g A S B @ s uarsT S

A. G A 31 9

B.f 7 &g & B

C. e wEeT T

D. 3URTER YT et

AC
A

AC

BC
B

BC



DA

cD

cD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440329 The neighboring country is either enemy or friend

A. The neighboring country is an enemy

B. The neighboring country is not an enemy

C. The neighboring country is a friend

D. The neighboring country is not a friend.

fow g 99 7 g1 A SR IES 9] TR BUA G| YT BT BT G T, ToT Ted DU BT A GO BUF 9 B, 3R & DY difhd U F T FUA § WG ¢
TSIt 39 @ AN g ? AT SR

A, TSR 3= § g

B. USRI A= gw T &

C. uSrlt 3w @ firm

D. USRA &xr fim e &

AC

AC
DA

DA
CD

CD

AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440403 The caterer is going to serve either on glass plates or on disposables

A. The caterer is going to serve on glass plates

B. The caterer is not going to serve glass plates

C. The caterer is going to serve on disposables

D. The caterer is not going to serve on disposables

fow g 9 g U SR IS 918 TR FUA § | FUA! BT BT G T, T81 15 U BT A g8 HUF 9 B, SR & FY Al U § T FUH F W 8
FoR T A P P W] R A fSENE R TRI9E S @17

A. HeR BTY P @El W R I 6T §

B. e Hid P Qe TG T T8 3

C. Few fowdoee wIT o 61 §

D. PR fEuiiviad W aren T8l &

AB
A

AB

DA
B

DA

C CA



CA
BD

BD
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442012
Cattle: Herd
o e e Q FdlRd wreg &1 =57 R
s
Boat : Lake
A
94 : 3ia
B Grass : Garden
oy :
Fish : School
C
T : g
Milk : Cow
D
FURRIC

Correct Ans : C

Subject : General Reasoning

Q.No: 56 Simplify: 148-[36 + {124 - 6(68 - 60)}]

2422381
RO SITE: 148 -[36 + { 124 -6( 68 - 60)}]
36
A
36
40
B
40
35
C
35
37
D
37

Correct Ans : A
Subject : General Maths

Q.No: 57 Three types of Rice of Rs. 1.37, Rs. 1.39 and Rs. 1.42 per kg are mixed together to be sold at Rs. 1.40 per kg. In what ratio should the rice be mixed.
2432732

F UBR % 6@ RS, 1.37, F. 1.39 3R 3. 1.42 I U frcll v Wy e o & 1 91 71 1.40 Ui 5o, =maa & forw srura & firarn afgul

25
A

25

23
B

23

26
C

26

ao



D <o

28
Correct Ans : C

Subject : General Maths

Q.No: 58 An alloy contains 12% Steel. How many kilograms of mixed metal will be required to get 75kg steel?

2432761
T Ay o1 H 12% $W9 7, 75 {5 3%rd urd A & fore e fseiom fifda uig Y srazaaar gnfte
725kg

A
725kg
445kg

B
445kg
625kg

c
625kg
665kg

D
665kg

Correct Ans : C

Subject : General Maths

Q.No: 59 The ratio of milk and water in three samples is 11: 14, 16 : 19 and 20 : 25. A mixture containing equal quantities of all three samples is made. What will be the ratio of milk ¢
2432806

o I & gy IR a7 SIUId 11:14,16:19 3R 20:25 §1 T T Bt G TET BT 9007 SR S 1 T frson & gy iR arl @1 sigua @ geme

2564:987
A

2564:987

1549:1811
B

1549:1811

2123:2612
(o

2123:2612

4571:5511
D

4571:5511

Correct Ans : C

Subject : General Maths

Q-No: 60  \What should come in place of question mark in the following number series?
2433087

25% of 544 + 38% of 1400 + 60% of 2880 =?

Frafofaa ssar-gaar | watueg (2) % T 9T SE A
25% T 544 + 38% FT 1400 + 60% FT 2880 =?

2396
A

2396

2400
B

2400

2392
C

2392

D 2395



2395
Correct Ans : A

Subject : General Maths

Q.No: 61  \What should come in place of question mark in the following number series?

2433094
9082 + (8% of 2270.5) =2 + 25
et SEar-saEeT § Tt (2) F S I HT AT A8 g?
9082 + (8% T 2270.5) =2+ 25
1248
A
1248
1255
B
1255
1250
[o}
1250
1245
D
1245

Correct Ans : C

Subject : General Maths

Q.No: 62 Find the average of the numbers appearing on all 6 faces of the dice.

2433838
IR F Ot 6 Baw! W M arl TSK FT sid 71d P
3.4
A
3.4
3.6
B
3.6
3.5
c
3.5
3.2
D
3.2

Correct Ans : C

Subject : General Maths

Q.No: 63 In an office of 20 employees, the average age is 25 years old. If we include an officer, the average will increase by 1 year. What is the age of the officer?
2433872

20 FHARG & U@ Fraied ¥, $iNd g 25 o 31 AR g0 U@ et & it 9va §, o offed 1 o wg Sem sifYer @ 3w @ g2

44
A
44
46
B
46
48
c
48
42
D

42



Correct Ans : B

Subject : General Maths

Q.No: 64 In a T20 match of 20 overs, team A scored at a run rate of 8.40 runs per over in first innings. Team B is playing and 4 overs are left and the required run rate to tie the match
2433908

20 MR F & 20 g A 9 A 3 ggeht grd 7 8.40 37 A 3R 3 &R A 3 5101 9 B A W6 § 3R 4 3R 2 § 3R A9 &) o1 v & o oy 37 X2 10,50 3 wld SR 31 @\ B @) adwE

7.88 runs per over

A
7.88 T TR SR
7.75 runs per over
B
7.75 A U AR
8.00 runs per over
C
8.00 ¥ T SR
7.63 runs per over
D

7.63 T Ufd SR
Correct Ans : A
Subject : General Maths

Q.No: 65 There are seven consecutive even numbers. Largest even number is 40% more than the
2433918 smgllest evennumber. Find the average of these seven consecutive even numbers.

g IR HId HHNT IH WG 3 | Jod 91 96 g1, G SIS G0 W@ d 40%
3 § | 371 I HURT T SRS 1 1 1 Biorg?

38
A

38

36
B

36

31
C

31

42
D

42

Correct Ans : B
Subject : General Maths

Q.No: 66 gimplify: 20025 x3+12
2433937

TRA DITOIT: 200+25 x3+12

3
A

3

6
B

6
C

2

0
D

[}

Correct Ans : C

Subject : General Maths



Q:No: 67  The value of 4+24 of 4 x8+28 x§+24—4+3+4-4+120f 4 x 12is:
2434005

4+ 4B24x8+28x8+24-4=3+4-4=4B12x 12 BIAAIA B

Correct Ans : B

Subject : General Maths

Q.No: 68 Ram gives gifts to her 28 friends equally. He has Rs 10000. How much maximum money does he spend on his friends equally and how much money remains to him?
2434805

I 3 28 i F Y T § IUGR AT 31 WS U 10000 I T T8 ST SRal IR GIH U § a1 st T @9 el § $iR 9P Ur e Or g 37
Rs. 350 Rs. 200

A
350 I 200 ¥
Rs. 450 Rs. 100
B
450 ¥9F 100 ¥
Rs. 250 Rs. 150
C
250 ¥W 150 I
Rs. 200 Rs. 50
D

200 ¥ 50 FUY
Correct Ans : A
Subject : General Maths

Q.No: 69 If2a—7ab+3b2=0, then find the value ofa :b

2435364
G 222 - 7ab+3b2=0, T a : b FIAA I DI |
3:1
A
3:
:4
B
5:4
1:
C



2:7
Correct Ans : A

Subject : General Maths

Q.No: 70 The sides of a triangle are in the ratio 4 : 5 : 7. If its perimeter is 48 inch, then what is a the difference between its two bigger sides?
2435389

TP BYS BT YSE 4 : 5 : 7. F U § §1 Al 5Tt uRkfy 48 €9 7, O 3uat & Go oS} yomsit A Fm oicR 87

2 inch
A

24w

4 inch
B

4%

6 inch
c

6%

12 inch
D

1259

Correct Ans : C

Subject : General Maths

Q.No: 71 In a row of 30 boys, Ajay is 234 from left end and Amar is 12% from right end. Then find how many
2425603 . . : 0
boys are in between Ajay and Amar?

30 ISHI B TF Ufd H, 3o 91 TR F 237 RIM R ¢ 3R iR a BR T 128 WM | T Al 1 P & sofa oIk iR F 7ed fvam @ &2

1
A

1

2
B

2

3
Cc

3

4
D

4

Correct Ans : C

Subject : Mental Ability

Q.No: 72 = Observethe faces of the dice and then answer the question.
2429617 \Which colour is opposite to Red?

Red Blue Pink Yellow

. Red
Blue [Pink Black [Pin Yellow Red Green

IR & FAR F W AR geat &1 IR/ )

Red & faodia T gem?
Red Blue Pink Yellow
Blue [Pin Black [Pin Yellow |Red Green RS9
Yellow
A
Yellow

B Pink



Pink

Green
C

Green

Black
D

Black

Correct Ans : D
Subject : Mental Ability

Q.No: 73 Three positions of a cube are shows below. What will come opposite to face containing ‘Q"?

2433360
Q P T
P B N R R Q
TH T B o Rufolt =i g2fg 78 §1'Q It W & fqudia @ sy
Q 14 T
P B N R R Q
R
A
R
B
C
T
D
T

Correct Ans : A
Subject : Mental Ability

Q.No: 74 In a certain code language, ‘PLANE’ is written as ‘VQEQG'. What is the code for ‘ROUGH’ in that code language?
2434419

U P Fibfie w1, PLANE’ &1 §9 TR 'VQEQG' ferar sirar 81 52t Widsfies w1 # 'ROUGH" @Y g W forar ST webett 82

WTYI]
A

WTYI)

XTYJ]
B

XTYJ1]

XSYIJ
C

XSYIJ

XTYJ1
D

XTYJI

Correct Ans : B

Subject : Mental Ability

Q.No: 75 If COMMENT is coded as 4171617102027 and SHARE is coded as 201042210, then how will LIKE be coded as?
2434966

¢ COMMENT &1 4171617102027 F ¥U & g & a1 § oIk SHARE &l 201042210 & ¥ & Feag &1 71 8, o LIKE 3 9 Feag &1 smem?
A 1311149



1311149

1315149
B

1315149

2691149
C

2691149

1311169
D

1311169

Correct Ans : A
Subject : Mental Ability

Q.No: 76 In a class of fifty students, Geeta's rank is thirty-two from the left end. What is her rank from the right end?

2435307
oy et @1 e wan # M &1 w9 8R & SN §1 o 8R 9 SUd! RIF |1 87
17
A
17
18
B
18
19
c
19
20
D
20

Correct Ans : C

Subject : Mental Ability

Q.No: 77 Three statements are given followed by four conclusions numbered I, II, III & IV Assuming the statements to be true, even if they seem to be at variance with commonly know
2435498 statements.Statements:-Some rings are phones.

All phones are laptop.

Some laptops are stations.
Conclusions:i. Some stations are rings
ii. Some phones are stations

iii. Some laptops are rings

iv. All rings are stations is a possibility.

diF FE & a1e IR Fsed 1, 11, 111 3R 1V T T €, FuAl 91 9 TG gY, 4 @ 3 I T 9 & e wad &, a5 ofa & i o W e sl o aifde S99 8 SR g 7
FYT:

Po RTwA

T B ey §

PO T RRE §

Fread:

i. PO QYA R ¥

ii. 3% BF RIA §

iii. $o Quer o §

iv. Tt i1 & W § Bt gura §

None follow.

BIS STV G el §
Only conclusion III & IV follow.

e FpY 111 U4 IV SRRV 37d

C Only conclusions I & III follow



Pao TPy I Td 111 SRR IR §

Only conclusion II and either conclusion I or IV follows.

Faa ey 11 R 7 & ey 1 T IV SR e
Correct Ans : B
Subject : Mental Ability

Q.No: 78 Which of the following will come in the place of question mark?
2438632
a-bc-c-abb-bca-

FrafaRad & 9 o1 uyaas g F RIME W STU ?

a-bc-c-abb-bca-

abbba
A

abbba

accbha
B

accbha

cccbe
C

cccbe

cbbac
D

cbbac

Correct Ans : B
Subject : Mental Ability

Q.No: 79  Which of the following will come in the place of question mark?
2438643
ab_a aa_ _a.a

iR # 9 1 UyaEs e & ®IMF )R 10 ?

ab_a_aa__a_a

abbab
A

abbab

bbabb
B

bbabb

aaaba
C

aaaba

babab
D

babab

Correct Ans : A
Subject : Mental Ability

Q.No: 80 Complete the following series
2438766
57, 60, 63, 66, 69,

Frofafea o o e

57, 60, 63, 66, 69,

72

72



73

70
c

70

74
D

74

Correct Ans : A

Subject : Mental Ability

Q.No: 81 Pen is called pencil, pencil is called eraser, eraser is called sharpener, sharpener is called book, book is called bag and bag is called class. So we can read?
2439218

A &1 Iy, IR B ROR, ROR & AR, AR B g5, I B 7 AR 7 B TG Fel S 31 A g9 U8 Ghd 82

Book
A

k5d

Sharpener
B

MR

Bag
C

&

Class
D

e

Correct Ans : C
Subject : Mental Ability

Q.No: 82 In the English alphabet, which letter is 13th from right end?

2439533
SO quiATer & Rl BR ¥ 133 WM R SIF-I1 38R 372
L
A
L
M
B
M
c
o
D
o

Correct Ans : C
Subject : Mental Ability

Q.No: 83 If T = 20 and TEAM = 39, then TREE = ?

2442210
If& T = 20 3R TEAM = 39, & TREE = ?
39
A
39
54
B
54
48
c
48



36

36
Correct Ans : C
Subject : Mental Ability

Q.No: 84 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442790
DOWELLING
fau Y dofetien sl I a8 Wex AT St 4T Y Weg & SfeRT T TN DI AET ST S Fahelll
DOWELLING
Welling

A
Welling
Down

B
Down
Gone

c
Gone
Winning

D
Winning

Correct Ans : D

Subject : Mental Ability

Q.No: 85 In the given word find out how many such pairs of letter are their which has as many letters between them in the word as in the English alphabet.
2443041

DECORATE

T ‘DECORATE’ H 31eRT & fobant U8 g1 8, A & 1de & i wreg & I € 31eR ¥ (3 aiR W T fommait ) R &5 ool aufrmen & 3% & 82

DECORATE
One.
A
b
B Two.
Three.
¢ L
D More than three.
& ¥ offr

Correct Ans : C

Subject : Mental Ability

Q.No: 86 Geeta can finish typing a 187 page document in 11 hours, Mitali in 13 hours and Sonali in 17 hours How long will they take to type a 187 page document if they work together
2423706

T 187 UST F AT $ 11 9 H, el 13 €2 § ofR WAl 17 62 8 <150 o ahdl 31 3R 3 WY A B FRA & O SF 187 U 1 WA TIRY FA B a1 IHg wnm?
6578/87 hours

A
6578/87 ©e
5432/51 hours
B
5432/51 "¢
2354/231 hours
C
2354/231 ®e¢
2431/551 hours
D

2431/551 €&



Correct Ans : D

Subject : General Aptitude

Q.No: 87 A cistern can be filled by one tap in 18 hours, and by another in 19 hours. How long will it take to fill the cistern if both taps are opened together?
2423728

T T B U@ A 18 He H R @RI 7 19 6 H R ol 21 Il T il @Y s Wiy @it fan S o Eat @) = F e g @i
411/13 hours

A
411/13 ¥¢
257/21 hours
B
257/21 %
543/27 hours
c
543/27 9
342/37 hours
D

342/37 @
Correct Ans : D

Subject : General Aptitude

Q.No: 88 Calculate the rectangle’s area if its length is 80 ¢cm and breadth is 60 cm.

2426249

ST & & BT UM X Al 3HBT TaTs 80 FAT 7 SR ST 60 FH B

1200 cm?
A

1200 d#R

5000 cm?
B

5000 R

1680 cm?
C

1680 {2

4800 cm?
D

4800 I

Correct Ans : D

Subject : General Aptitude

Q.No: 89 Calculate the triangle’s base if area is 435 cm? and height is 11 cm.
2426264

Ife &t 435 A § 3R Fars 11 A § o Brelor & 3R Y aorar w1

65.75 cm

A
65.75 YR
60.66 cm

B
60.66 ey
85.54 cm

c
85.54 FieR
79.09 cm

D
79.09 ¥dtiex

Correct Ans : D

Subject : General Aptitude



Q.No: 90 Calculate the cylinder’s curved surface area if its radius is 13.5 cm and height is 7.5 cm.

2426270

o 3u@T frear 13.5 9ft § SR S 7.5 et B < Ricisx &1 gAmaeR wag &7 9|

528.24 cm?
A

52824 R

636.43 cm?
B

636.43 TR

162.77 cm?
C

162.77 JHE

190.89 cm?
D

190.89 {#H?

Correct Ans : B

Subject : General Aptitude

Q.No: 91 A man earns Rs 200 on the first day and spends Rs 150 on the next day. He again earns Rs 200 on the third day and spends Rs 150 on the fourth day. If he continues to save
2431244

T Afed T & 200 T HAWI § 3R AT & 150 T T X &al g1 TR & 98 T 200 T HHIC § 9 912 & 150 ¥ @4 &% 4am §1 S 98 9 YR Fad B, af e feit F I9F U 600

A 10 days
10 &7
B 12 days
127
C 18 days
18 feT
D 17 days
17 A

Correct Ans : D

Subject : General Aptitude

Q.No: 92 Akash, Bharat, Charan, Dinesh, Mahesh and Naresh have 6, 16, 21, 10, 12 and k online friends with them. If mean number of friends with them is 14, find k.
2434584

BT, R, TROT, A, TRY IR WA F 6, 16, 21, 10, 12 3R k SiFens B §1 3 I7& Gy it 3t Wen 37 THER 91 14 8, d k 31 9H 0 D

19
A

19

17
B

17

20
C

20

23
D

23

Correct Ans : A

Subject : General Aptitude

Q.No: 93 A can paint a house in 55 days and B can do it in 66 days. Along with C, they did the job in 12 days only. Then, C alone can do the job in how many days?
2436062

A Tt TR 3 55 T H T o) Todr § 3R B 39 66 T § % Tda 71 C S 1y Has) 3 39 M oY 12 i ¥ gu o) T6d 1 a8 C e 39 S Bl b o # o
24

24



44

33
c

33

20
D

20

Correct Ans : D

Subject : General Aptitude

2&'\;‘219741 If 4x2 - 12x + k is a perfect square, then the value of k is-
T ax2—12x + kO & Y, &Y kFT A §-
2
A
2
9
B
9
12
C
12
10
D
10

Correct Ans : B

Subject : General Aptitude

T (27+2%242%%42%42%) is divisible by-
(271 42%242°%42%44.2%%) o & @ e fases &2
23
A
23
58
B
58
124
C
124
127
D
127

Correct Ans : C

Subject : General Aptitude

Q.No: 96 If the area of a circle is 154 sq cm, what will be its diameter?
2436793

& TP g1 o1 &Awd 154 T 9 B, T STST A T GI?

28 cm
A

28 &t

16 cm
B

16 &t

Cc 7 cm



7 St

14 cm

14 Jf

Correct Ans : D

Subject : General Aptitude

5

Q.No: 97 - potr's age is 665% of Ramesh’s age. The ratio of their ages before 7 years was 9 : 14. Find the

2436907
sum of their present ages.
G BT TG T B ARG BT 6632 1 7 T8 UG PN A7 BT 3T 9:14 11 ST
1Y 1T T BRI
85
A
85
175
B
175
105
C
105
115
D
115

Correct Ans : B

Subject : General Aptitude

Q.No: 98 The ratio of present ages of Reshma and her mother is 9 : 2. The ratio of their ages four years ago was 8 : 1. What will be the sum of their ages four years from now?
2436921

I IR DT A BT FAAF S BT U 9:2 F1 IR I Ugd GAD! 3G BT STUT 8:1 AT, 3F A IR TY S5 ITH1 3G BT AN I BIfoTg

48
A

48

55
B

55

52
c

52

44
D

44

Correct Ans : C

Subject : General Aptitude

Q.No: 99 The LCM of 4 numbers is 117 and the HCF of each pair is 3. Find the multiplication of all the numbers?

2436963

IR G BT A, 117 4R YA T B A.9.9. 3 71 9ft Gemelt &1 qunwa i S

3159
A

3159

2170
B

2170

3179
C

3179

D 3158



3158
Correct Ans : A

Subject : General Aptitude

Q.No: 100 DIRECTIONS: What should come in place of the question mark (?) in the following question?
2444636

2,4,16, 96, 768,?, 92160

P Fufifed vy # vsares e (7) $ ®M R @41 o Fifee?

2,4, 16, 96, 768,?, 92160

6192
A

6192

8182
B

8182

7680
C

7680

9458
D

9458

Correct Ans : C

Subject : General Aptitude



